& 6 % ’ Prozent in Dezimalzahlen umrechnen

Name: Datum: Ergebnis:
1,32 = % 0,82 = %
0,43 = % 0,71 = %
0,91 = % 1,92 = %
0,72 = % 0,68 = %
1,64 = %o 0,34 = %
0,29 = % 1,55 = %
1,82 = % 1,61 = %
0,01 = % 1,89 = %
1,46 = % 1,32 = %
1,85 = % 0,27 = %
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c & § 2

Prozent in Dezimalzahlen umrechnen

Name:

1,32 =132%

0,43 = 43%

0,91 =91%

0,72 =72%

1,64 =164%

0,29 =29%

1,82 =182%

0,01 = 1%

1,46 = 146%

1,85 =185%

Datum:

0,82 =82%

0,71 =71%

1,92 =192%

0, 68 = 68%

0, 34 = 34%

1,55 =155%

1,61 =161%

1,89 = 189%

1,32 =132%

0,27 =27%
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Ergebnis:



https://www.snowmath.com

